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You have a server that runs a Server Core installation of Windows Server 2016. You need

to change the DNS server used by IPvb. What should you do?

(A) From Sconfig, configure the Network Settings.

(B) Run the sc.exe command and specify the config parameter.

(C) From Windows PowerShell, run the Set-NetIpv6Protocol cmdlet.

(D) From Windows PowerShell, run the Set-DnsClientServerAddress cmdlet.
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(A)Private cloud (B)Home cloud (C) Public cloud (D) Hybrid cloud

In an isolated test environment, you deploy a server named Serverl that runs a Server.

Core Installation of Windows Server 2016. The test environment does not have Active.

Directory Domain Services (AD DS) installed. You install the Active Directory Domain

Services server role on Serverl. You need to configure Serverl as a domain controller.

Which cmdlet should you run?

(A) Install-ADDSDomainController  (B) Install-ADDSDomain

(C) Install-ADDSForest (D) Install-WindowsFeature
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